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Question Number : 1 Question Id : 6801915473 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who was the first winner of the Gandhi Peace Prize?

1. A.T Ariyaratne
2. Julius Nyerere
3. Nelson Mandela
4. Marie Curie
Options :
68019121401. 1
68019121402. 2
68019121403. 3

68019121404. 4

Question Number : 1 Question Id : 6801915473 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

gcollegedunias

~

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



el il QREPR & ygd fqoidr pi 42

1. Q. 2. amaRa
2. gy IR
3. A gea
4, TR g
Options :
68019121401. 1
68019121402. 2
68019121403. 3

68019121404. 4

Question Number : 2 Question Id : 6801915474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the given Bharat Ratna awardees in chronological order according to
their year of receiving the award

(A)APJAbdul Kalam

(B) Lata Mangeshkar

(C) Amartya Sen

(D) Dr. C.V.Raman

Choose the correct answer from the options given below:

_(A). (B). (C). (D)
(D). (C). (B). (A)
.(D). (A). (B). (C)
(D). (A). (C). (B)

|

N

Options :

68019121405. 1
68019121406. 2
68019121407. 3

68019121408. 4

Question Number : 2 Question Id : 6801915474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Thi .
collegedunia:

Instruction Time : 0

~



Correct Marks : 4 Wrong Marks : 1

3T T YR e REBR faorarsil 1 37a REPR WK - & Y & AR
BTAIeh P 1 T Haieyd B3

(A) U YIS, 3fsga P
(B) ol HIIEHT

(C) 3 U
(D) 81 Hl.dl. THu

- fau T fooedl & ¥ 98l SR A1

1. (A), (B). (C). (D)
2. (D). (C). (B), (A)
3. (D). (A). (B). (C)
4. (D). (A). (C). (B)

Options :

68019121405. 1
68019121406. 2
68019121407. 3

68019121408. 4

Question Number : 3 Question Id : 6801915475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who won the Nobel Prize in Economic Sciences in 20237

. Claudia Goldin
. Paul Krugman
. Joshua Angrist
4. Ben Bernanke

Options :

|

Taa

68019121409. 1
68019121410. 2
68019121411. 3
68019121412. 4

gcollegedunias

Question Number : 3 Question Id : 6801915475 Question Type : MCQ < iict crvrriinny « vuv o



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2023 T 311 fagm O &1 Fied RIBR forg  oifdr U
1. g ST Mies

1.%@1@%
S

Options :

680191214009. 1
68019121410. 2
68019121411. 3

68019121412. 4

Question Number : 4 Question Id : 6801915476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the given Indian/Indian origin astronauts in chronological order of year in
which they went to space?

A. Rakesh Sharma

B. Sunita Williams
C. Raja Chari

D. Kalpana Chawla

Choose the correct answer from the options given below:

1. (A).(B).(C).(D)
2. (A).(D).(B).(C)
3. (B).(A).(D).(C)
4.(C)(D).(A).(B)

Options :

68019121413. 1

68019121414, 2

68019121415. 3

68019121416. 4 @collegedunias

~



Question Number : 4 Question Id : 6801915476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& 0 YR/ YRGaEd & Sidie g o o 4 9 sidike I 70 4 39d
HTHR DIAHD S o T oUayd &

A, THI A

B. gHIdT faeraey
C. ST =R

D. Hed-1 I1ad]

5 R Ty e 8 T wer 3

(A).(B).(C).(D)
. (A).(D).(B).(C)
. (B).(A).(D).(C)
4.(C).(D).(A).(B)

faad o —

Options :

68019121413. 1
68019121414. 2
68019121415.3
68019121416. 4

Question Number : 5 Question Id : 6801915477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Match List I with List II

LIST1I LISTII
(Book) {Author)
A |5chool Times I. |Sudha Murthy
B. |Three Thousand Stitches| II. |Ruskin Bond
C. |Goodnight Moon II1. |Shel Silverstein
D. |The Giving Tree IV, |Margaret Wise Brown

Choose the correct answer from the options given below:

1. (A) - (II). (B) - (I). (C) - (IV). (D) - (1II)
2. (A) - (1) (B) - (III). (C) - (IT). (D) - (IV)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019121417. 1
68019121418. 2
68019121419.3

68019121420. 4

Question Number : 5 Question Id : 6801915477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 9= 11 9 e Siforn

I I
o oo
A. [¥pd T™ L |genafd
B | u3vis efaw | 1 R s
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- feu U fdsedl & 9§ el SR I |

1. (A)- D). (B) - (1). (C) - (IV). (D) - (1)
2.(A) - (D). (B) - (1II). (C) - (II). (D) - (IV)
3.(A)- (D). (B) - (I). (C) - (IV). (D) - (IIT)

4. (A) - (II). (B) - (IV), (C) - (D). (D) - (I)
Options : gcollegedunias

~

68019121417.1



68019121418. 2
68019121419. 3

68019121420. 4

Question Number : 6 Question Id : 6801915478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ability to imagine what life 15 like for another person is called:

1. Empathy

2. Critical Thinking
3. Creative Thinking
4. Self awareness

Options:

68019121421. 1
68019121422. 2
68019121423.3
68019121424. 4

Question Number : 6 Question Id : 6801915478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ot a0 aofda & foTu offas &1 8. ST Hed1 & DI &HdT 1 el ol

&

4. HATH Slli=hd]
Options :

68019121421. 1

68019121422, 2
68019121423. 3 gcollegedumas
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68019121424. 4

Question Number : 7 Question Id : 6801915479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 5 E model of Learning includes five phases:
Engage.-------- Explain. Elaborate and -=--e=neanu-- 1

. Enquire, Explore

| R

. Explore, Enquire

L]

. Explore, Evaluate
4. Evaluate, Enquire

Options :

68019121425. 1
68019121426. 2
68019121427. 3

68019121428. 4

Question Number : 7 Question Id : 6801915479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

URa- & 5 § Aisd § Uid =R01 A &;

1. TS IS, 390l
2. 349U, IS

3. 3N, i
4. HeOToH. U8 dTS

Options :
68019121425. 1
68019121426. 2

68019121427. 3 :
collegedunia:

68019121428. 4 ~



Question Number : 8 Question Id : 6801915480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

First Indian State to start World Class IT Campus for persons with disabilities:

. Tamil Nadu
. Kerala

. Telangana
4. Karnataka

b =

L]

Options :

68019121429. 1
68019121430. 2
68019121431.3

68019121432. 4

Question Number : 8 Question Id : 6801915480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?@W@W%%@ﬁ%iﬂﬁﬂaﬁﬁw IR B dTdl Ugell YR I

1.d ilﬂﬁl@

2. B

2 3o

4. PAlch
Options :
68019121429. 1
68019121430. 2
68019121431.3

68019121432. 4

Question Number : 9 Question Id : 6801915481 Question Type : MCQ gco”egedumag

~



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
What does 'E' stand for in the 5 OCEAN personality model?

1. Empathetic
2. Elasticity
3. Effectiveness
4. Extroversion
Options:
68019121433. 1
68019121434. 2
68019121435. 3

68019121436. 4

Question Number : 9 Question Id : 6801915481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
5371 1. 3.0 U9, Afdad Alsd & 5 & a7 345 82

1. vHdfes

2. TaTRe R
3. ShdicaTy
4. USICIgo

Options:

68019121433. 1
68019121434. 2
68019121435. 3
68019121436. 4

Question Number : 10 Question Id : 6801915482 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0 .
collegedunia:

Correct Marks : 4 Wrong Marks : 1 -



Identify correct statements for DIKSHA' Portal.

(A). It 1s a national digital infrastructure for sharing of knowledge

(B). It was launched formerly by Prime Minister of India in 2018.

(C).It was launched on Teacher's Day in 2022

(D). It 1s a national teacher platform which 1s being used by teachers and students
to provide school education through distant mode.

Choose the eorrect answer from the options given below:

1. (A). (B) and (D) only
2. (A). (B) and (C) only
3. (A).(C) and (D).only
4. (A). and (D) only

Options :

68019121437. 1
68019121438. 2
68019121439. 3

68019121440. 4

Question Number : 10 Question Id : 6801915482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DIKSHA' UIed & forw 981 #u=i &1 9gaH & |

(A) TE T G131 B & fo1w uep 1Py fSforea uide o1 gkl efan gl
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1. %ad (A). (B) 3R (D)
2.%dd (A), (B) 3R (C)

3.9ad (A). (C) a?mm
4. %ad (A) 3R (D

Options :
68019121437. 1

68019121438. 2 :
collegedunia:

68019121439. 3 ~



68019121440. 4

Question Number : 11 Question Id : 6801915483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The book '"Why I am an Atheist’ was written by:

1. Dr. Rajendra Prasad
2. Bhagat Singh

. Dr. C. Subramaniam
4. Dr. S. Radha Krishnan

Options :

L]

68019121441.1
68019121442. 2
68019121443. 3

68019121444. 4

Question Number : 11 Question Id : 6801915483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Uqah:" AIY 33 UH URRe i gRT fordl T1g 4t 2

1. BI. Jeig TS

2. YiTd g

3. SI. Hl. gemugy

4. 51 UH. YT $IH

Options :

68019121441. 1
68019121442. 2
68019121443. 3

68019121444. 4

gcollegedunias

Question Number : 12 Question Id : 6801915484 Question Type : MCy U;)l:lon SMNUTTIING : NO 1S



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Contribution to which field is honoured by Dhanvantari award?

. Physics

. Space research
3. Medicine

4. Literature

| R

Options:

68019121445. 1
68019121446. 2
68019121447.3
68019121448. 4

Question Number : 12 Question Id : 6801915484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

for &1 T giTe & T yda’] REPR I guid faar orar 82

Hifaast
 Sfafeer srgduE
fedremrE
4. Oied

Options:

fag b —

68019121445. 1
68019121446. 2
68019121447. 3

68019121448. 4

Question Number : 13 Question Id : 6801915485 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0 .
collegedunia:

Correct Marks : 4 Wrong Marks : 1 s



Which professor of Indian origin has been awarded the Dutch Spinoza Prize for
climate change research?

1. Dr.Joyeeta Gupta

2. Dr. Rajendra Pachauri
3. Dr. Sunita Narain

4. Dr. Vandana Shiva

Options :

68019121449. 1
68019121450. 2
68019121451.3
68019121452. 4

Question Number : 13 Question Id : 6801915485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YR Tl & &1 9 WHIR o, forg Searg gikad= srduE & fag 39
[T REPR T T fosgr man gy

1.6T.Gﬁ€mw

2. BI. Ioig gt

3. 81 gAldI RE

4. 81, g1 [=rar
Options :

68019121449. 1
68019121450. 2
68019121451. 3

68019121452. 4

Question Number : 14 Question Id : 6801915486 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

gcollegedunias

~

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Where 1s the 'Lakshmibai National Institute of Physical Education' located?

1. Gwalior
2. Agra

3. Jaipur
4, Patiala

Options :

68019121453. 1
68019121454, 2
68019121455. 3

68019121456. 4

Question Number : 14 Question Id : 6801915486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

AgHIETs AP ARG MRaT SR Sl [d g2

1. IR
2. HIII

3. SR

4. gicgrel
Options:
68019121453. 1
68019121454, 2
68019121455. 3

68019121456. 4

Question Number : 15 Question Id : 6801915487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Match List I with List II

LISTI LISTII

(Subject) (Propounder)
Father of Maths | I. |Geoffrey Chaucer

Father of Biology| II. |Isaac Newton
Father of Physics | III. |Archimedes
Father of English | IV. |Aristotle

=

g0«

Choose the correct answer from the options given below:

1. (A)-(I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (@) (B) - (IIT). (C) - (I1). (D) - (IV)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (I1I)
4. (A) - (III). (B) - (IV). (C) - (II). (D) - (I)

Options :

68019121457. 1
68019121458. 2
68019121459. 3
68019121460. 4

Question Number : 15 Question Id : 6801915487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 9= 11 9 e Siforn

gﬁq{' A I
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B. |5iid fa9H & S| 11 [3H1® e
C. M@l e w—e |11 |enfeise
D |sEeied e e |1V [oheeiea
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1. (A)- (. (B) - I). (C) - (II). (D) - (IV)
2. (A) - (D). (B) - (1II). (C) - (II). (D) - (IV)
3.(A)- (D). (B) - (I). (C) - (IV). (D) - (IIT)

4.(A)-(III). (B) - (IV). (C) - (I). (D) - (I) .
gcollegedumas
Options : S



68019121457. 1
68019121458. 2
68019121459. 3

68019121460. 4

Question Number : 16 Question Id : 6801915488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For maintaining an effective discipline in the class. the teacher should:

1. Ask the indisciplined students to go out
2. Deal with the students strictly

. Give students some difficult problems to solve
4. Deal with students politely and firmly

s

Options :

68019121461. 1
68019121462. 2
68019121463.3

68019121464. 4

Question Number : 16 Question Id : 6801915488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

D&l T YUTdl SRITE §1U 3@ & fo7u, g/ f2féenT o1 =g o

 SRIe I faenfifal &t aer o & fau @
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Options :

s B2

68019121461. 1

68019121462. 2 gcollegeduniag

68019121463. 3 b



68019121464. 4

Question Number : 17 Question Id : 6801915489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term "Mnemonics' 15 associated with:

1. Memory
2. Amnesia
3. Values

4, Anaemia

Options :

68019121465. 1
68019121466. 2
68019121467. 3

68019121468. 4

Question Number : 17 Question Id : 6801915489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T v el 3 wEied 6
1. 9fd
2. Hfddy

3. 98
4. T

Options :

68019121465. 1
68019121466. 2
68019121467. 3
68019121468. 4

gcollegedunias

Question Number : 18 Question Id : 6801915490 Question Type : MC( —pcac: criciiiiiig o e oo



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The theory of learning associated with connectionism was propounded by:

1. Socrates
2. Pavlov

3. Thorndike
4. Kilpatrick

Options :

68019121469. 1
68019121470. 2
68019121471.3

68019121472. 4

Question Number : 18 Question Id : 6801915490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HeYarg 9 ofs Y- & RIGid BT UG --meeemeemeeev R fpar o

1. gpRId
2. gradiig
3. YHaE®
4. fooetufc s

Options :

68019121469. 1
68019121470. 2
68019121471. 3

68019121472. 4

Question Number : 19 Question Id : 6801915491 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0 i
uction Ti gcollegedumas

Correct Marks : 4 Wrong Marks : 1 =



Which among the following does not belong to cognitive domain of Bloom's
Taxonomy?

1. Receiving
2. Realization
3. Applying
4. Analysis

Options :

68019121473. 1
68019121474. 2
68019121475. 3

68019121476. 4

Question Number : 19 Question Id : 6801915491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofafaa o Y o o sgm & arifexu & SeHEe & 3 Jafia T8 &
1. UTtd -
2. 3rHld
3
4, fa=eiyu

Options :

Pl

68019121473. 1
68019121474. 2
68019121475. 3

68019121476. 4

Question Number : 20 Question Id : 6801915492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Which of the following 1s a feature of Progressive Education?

1. Instruction based solely on prescribed textbooks

2. Emphasis on scoring good marks in the examination
3. Frequent tests and examinations

4. Flexible timetable and seating arrangement

Options :

68019121477. 1
68019121478. 2
68019121479. 3

68019121480. 4

Question Number : 20 Question Id : 6801915492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad o § wifasie fRier o1 fa<vdr o= @ 82
1. Freffed ureagRae! W guia: serfed e

2. GIET H 3wy 3 UIk] - IR 9d
3. TR-GR U1 3R gdied
4. TSl gHT Il iR S @ caaw

Options :

68019121477.1
68019121478. 2
68019121479. 3
68019121480. 4

Question Number : 21 Question Id : 6801915493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which of the following are techniques of motivation?
(A) Reward

(B) Opportunities

(C) Recognition

(D) Punishment

Choose the correct answer from the options given below:

1. (A). (B). (C) and (D)
2.(A).(B) and (D) only
3. (B). (C) and (D) only
4. (A). (B) and (C) only

Options :

68019121481. 1
68019121482. 2
68019121483.3

68019121484. 4

Question Number : 21 Question Id : 6801915493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFrafarad & 9 ol 3R &1 dd-iie 82

(A) YD
(B) SIdHR

(C) HIFTdI
(D) &8

A2 Ry e § & ad SR

1. (A). (B). (C) 3R (D)
2. %dd (A). (B). 3R (D)
3.%dd (B). (C) 3R (D)
4.9dd (A). (B) 3R (C)

Options:
68019121481. 1
68019121482. 2

68019121483. 3
68019121484 4 gcollegeduniag

~



Question Number : 22 Question Id : 6801915494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Micro teaching is used to:

1. Teach a very small group of secondary school students

2. Reduce the duration of teaching time i a regular class of a school
. Reduce the duration of teaching time in a regular class of a college
4. Develop classroom skills among pupil-teachers

Taa

Options :

68019121485. 1
68019121486. 2
68019121487.3

68019121488. 4

Question Number : 22 Question Id : 6801915494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Rrgmor &1 Judin Fafiiad orl & fau faar s g:

1. HTenfties faenad o (qeniidl & us 9gd BIC 948 & UgHl

2. Ueh faeTerd &t (Faftrd we&n o fRrevr 90y &1 3aiY S Bl
3. U Didal &1 Haiid S& o R0 90 ot 3aiY & HH S
4. foanlf - el & Te SINE &1 faH™ &

Options :

68019121485. 1
68019121486. 2
68019121487. 3
68019121488. 4

Question Number : 23 Question Id : 6801915495 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Thi .
collegedunia:

Instruction Time: 0 $



Correct Marks : 4 Wrong Marks : 1

The most appropriate reason to adopt play therapy in the study techniques for
children 1s to:

1. Make the educational process joytul.

2. Understand the inner motives and complexes of children.
3. Make education more activity centered.

. Highlight the importance of play activities mn education.

=

Options :

68019121489. 1
68019121490. 2
68019121491. 3

68019121492. 4

Question Number : 23 Question Id : 6801915495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gﬁﬁ%%ﬂ T qb-ii] § & AUl Bl SO/ OH BT 964 FUdd HRUI

1. Qe wishar &1 S-gHg 1

2. §= & SRS IRl R Sicaarsi o FHg
3. Rig &1 3IR iide Tidfate digd ST

4. e & @ nfdfafeai & Hewd o1 W 9 fg@r

Options :

68019121489. 1
68019121490. 2
68019121491. 3

68019121492. 4

Question Number : 24 Question Id : 6801915496 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1 gwllegedunias

~



Verbal guidance is least effective i the learning of:

1. Aptitudes
2. Skills

. Attitudes

4. Relationship

L]

Options :

68019121493. 1
68019121494. 2
68019121495. 3

68019121496. 4

Question Number : 24 Question Id : 6801915496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e arfesi g & e § 98 o9 nuid &
1. HfeHand
)
3. 3ff¥gieral
4. gy
Options :
68019121493, 1
68019121494, 2
68019121495, 3

68019121496. 4

Question Number : 25 Question Id : 6801915497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



The duty of a teacher 1s to :

1. Raise the intellectual standards of students

2. Improve the physical standards of students

. Instil the correct value system 1n students

4. Helps in the all-round development of students

L]

Options :

68019121497. 1
68019121498. 2
68019121499. 3

68019121500. 4

Question Number : 25 Question Id : 6801915497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
U e ffarep1 &1 Hded &:

1. [Genfdi & SifS® aFe! & W IaM
2. faeni¥ail & TR TH®! § gUR &1
3. faentedal & 9et geg yomedt w1ud A1

4. faenfiat & gaftitor o & ggrad &

Options :

68019121497. 1
68019121498. 2
68019121499. 3

68019121500. 4

Question Number : 26 Question Id : 6801915498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Maladjustment and frustration develop in children when:

1. They are over pampered by all
2. Their needs are not met

. They fight with their peers

4. They fail in exams

L]

Options :

68019121501. 1
68019121502. 2
68019121503. 3

68019121504. 4

Question Number : 26 Question Id : 6801915498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

S| H pUHRIGH 3R gaRl 94 [a&d gl § o

1. 3 9 & gR1 3ifq ars-wR foar Srar 8
2. B! TR gt el gl @

3.9 399 IIgi & gy dad ©

4. Uil § 3w Bl oid §

Options :

68019121501. 1
68019121502. 2
68019121503. 3

68019121504. 4

Question Number : 27 Question Id : 6801915499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which one of the following 1s an example of a fine motor skill?

1. Climbing
2. Vaulting

. Running
4. Writing

L]

Options :

68019121505. 1
68019121506. 2
68019121507. 3

68019121508. 4

Question Number : 27 Question Id : 6801915499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Frafafad o 9 SH-91 U G& Hiek DIId Bl 3360 62

1. dg-l
2. 3BA-HG DA
3. QleAl
4. fergr

Options :

68019121505. 1
68019121506. 2
68019121507. 3
68019121508. 4

Question Number : 28 Question Id : 6801915500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List I with List II

LISTI LISTII
Evaluation Its Meaning
Evaluating scholastic and co-
A |Formative evaluation [ |scholastic aspects with
regularity

Tests and their interpretation
B. |Summative evaluation | II. |based on a group and certain
vardsticks

Continuous and
C. |Comprehensive I11.
evaluation

Grading the final learning
outcomes

ST Quizzes and discussion tests
4 L

D. ; IV |during the teaching- learning
referenced testing
process

Choose the correct answer from the options given below:

1. (A) - (). (B) - (I1). (C) - (III). (D) - (IV)
2. (A) - (IV). (B) - (ITT). (C) - (I). (D) - (II)

3.(A) - (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)
Options :

68019121509. 1
68019121510. 2
68019121511. 3
68019121512. 4

Question Number : 28 Question Id : 6801915500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



! 11 i 11 F e wifore

a1 =1
qeaieA IH@T 31
A REES Il | 1 [Tt @ Fafidar s
B RIGE
TS 48 3R $S AUCa &
g [ I |3YR TR U400 3R D!
Sl A
c |FReRamm® |, [ifaw siferm aiomt &
Lok g e
D [FFA® SRAFES | .. |- ufian & GRH
" |Hafa wdem "~ |oeet SR =t adam
- fau Y fderedl O 9 el SR 9:

1. (A) - (). (B) - (I1). (C) - (III). (D) - (IV)
2. (A) - (IV). (B) - (ITT). (C) - (I). (D) - (I)
3.(A) - (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (I)

Options :

68019121509. 1
68019121510. 2
68019121511.3

68019121512. 4

Question Number : 29 Question Id : 6801915501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which of the following 1s most appropriate for getting enumeration done for
census work or literacy programs from primary school teachers?

A. Such type of tasks should not be allocated to teachers

B. It disturbs the teaching work

C. Additional remuneration should be paid for such additional tasks

D. It 1s a national task and hence. ought to be done by teachers, as they are
nation builders

Choose the correct answer from the options given below:

1.B. C and D only
2. A.Cand D only
.B and C only
4. A and B only

L]

Options :

68019121513. 1
68019121514. 2
68019121515. 3

68019121516. 4

Question Number : 29 Question Id : 6801915501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

SIFTOAT 1 OT TI&Rdl SrhsHi & org Ui Rig] 3 1o saH & fou
Frofafad & 9 oH-91 9l S9gad ©

A. SO T & B RIdH! oI dfed I8! ot o Ty

B. U8 fremr o1 & aren STadr 8

C. U9 sffaivad &l & foru sifafvad oikyfie &1 Yiram fegr o= 9rsu
D. u‘s'w;@ﬂmm‘"%wﬁm fR1&1epT GRT T ST =ieT i 3 1y

13 g o faoredl 3 @ Ol SR

1.$adB.C 3R D
2. HIA A, C 3R D
3. BIAB IR C
4. %ad A 3R B

Options : gcollegeduniaé

68019121513. 1 b




68019121514. 2
68019121515. 3

68019121516. 4

Question Number : 30 Question Id : 6801915502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Teaching as a learner-centered activity means

1. Instructor ensures that learning is made possible for novice learners

[ ]

. Knowledge 1s transmitted to novice learners from someone who has acquired that
knowledge

3. Teaching as knowledge transmission

4. Teaching as non-assisted knowledge creation

Options:

68019121517. 1
68019121518. 2
68019121519. 3
68019121520. 4

Question Number : 30 Question Id : 6801915502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ue endf-iea nfafaf & o & R af §

1. Wiesds Ug Yad oxan & i i Rienffal & fog S dua g

2. 1 AfGRgar Rrenfiai & fewt T8 oofaa 9 S=nid ghar § forg- a8 34
siffd faam gt

3. M TR0 =9 H frequr

4. IR-TSTIAII 14 goid & &u H e

Options:
68019121517. 1

68019121518. 2 gcollegedunias

~

68019121519. 3



68019121520. 4

Question Number : 31 Question Id : 6801915503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which theory postulates that the child 1s born with mental structure that develops
and attains maximum growth around 14 or 15 years?

1. Psychosocial developmental theory
2. Cognitive developmental theory

. Social Cultural theory

4. Social learning theory

L]

Options :

68019121521. 1
68019121522. 2
68019121523. 3
68019121524. 4

Question Number : 31 Question Id : 6801915503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

@i 91 Figid g8 aFdl © i s=91 9 T3S 9y UST el e off & 14
715 Gl & YR faBRId 8l 8 3R Py =9 I gedl 87

1. S [de @S Rigid
2. TS faerads gl
3. QIS b idd RAGid

4. graTfore siferTH frgid

Options :

68019121521.1
68019121522. 2

68019121523. 3

68019121524. 4 gcollegedunias

~



Question Number : 32 Question Id : 6801915504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A child starts to ery when his/ her grandmother takes him/her from his/ her
mother's lap. The child cries due to:

. Social anxiety

. Emotional anxiety
. Stranger anxiety
4, Separation anxiety

faa b2 —

Options :

68019121525. 1
68019121526. 2
68019121527. 3
68019121528. 4

Question Number : 32 Question Id : 6801915504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TS g1 - A/ § OF S9! ale] U SUD Hi D Mg qadi s | g2 &
I+ BT IR &:

1. FTHISTe gieeid
2. YIS gfeeidl
3. 3R Sl gisdd
4. 9y gI- I g

Options:

68019121525. 1
68019121526. 2
68019121527. 3
68019121528. 4

Question Number : 33 Question Id : 6801915505 Question Type : MC( gcollegeduniaé

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following domains are related to attitude. value. and motivation?

1. Cognitive domain

2. Learning domain

. Psychomotor domain
4. Affective domain

L]

Options :

68019121529. 1
68019121530. 2
68019121531.3

68019121532. 4

Question Number : 33 Question Id : 6801915505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiad # @ ®1F a1 e efPPIvn. Heu iR IR I Heifed

IFHTED S8
g &1 EA
4, YUTal SE

Options:

fag b —

68019121529. 1
68019121530. 2
68019121531. 3

68019121532. 4

Question Number : 34 Question Id : 6801915506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1 gcollegedunias

~



The skills required for teaching are:

(A) Command over the subject
(B) Communication skills

(C) Subjectivity

(D) Conflict management skills

Choose the correct answer from the options given below:

1. (A). (B) and (D) only
2. (A). (B) and (C) only
3. (A). (B). (C) and (D)
4. (B). (C) and (D) only

P T

Options :

68019121533. 1
68019121534. 2
68019121535. 3
68019121536. 4

Question Number : 34 Question Id : 6801915506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1807 & forU 3axa® SIwd &
(A) fasg o fAgorar

(B) ¥aR
(C) B
(D) oY Ude SIId

- fau Y fde O 9 el SR 9:
1. %ad (A). (B) 3R (D)
2. $ad (A). (B) 3R (C)

3. (A). (B). (C) 3R (D)
4.%dd (B). (C) AR (D)

Options :
68019121533. 1

68019121534. 2 :
collegedunia:

68019121535. 3 ~



68019121536. 4

Question Number : 35 Question Id : 6801915507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cooperative learning is an alternative to:

1. Teaching methods that promote negatively associated learning goals
2. Using ICT in classrooms

. Lesson plans

4. Micro teachings

L]

Options:

68019121537. 1
68019121538. 2
68019121539. 3
68019121540. 4

Question Number : 35 Question Id : 6801915507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TePRI e ¥ uoe fded e
1. THRIAD 0 Y O[5 &7 d9&0i o1 9grar ¢ areil famr fafémt
2. Hefali § s dict & IugnT
3. 918 g1
4. g&H g

Options:

68019121537. 1
68019121538. 2
68019121539. 3
68019121540. 4

gcollegedunias

Question Number : 36 Question Id : 6801915508 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The average of a collection of 20 measurements was calculated to be 56 em. But
later 1t was found that by mistake one of the measurements was recorded as 64 cm
in place of 61 cm. What 1s the correct average?

.55.85cm
.45.68 cm
. 34.79 cm
4.56.78 cm

Options :

-3 =

%]

68019121541. 1
68019121542. 2
68019121543. 3

68019121544. 4

Question Number : 36 Question Id : 6801915508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

20 |91 & GUg &1 31194 56 9. i, ifcsd fovam man o1 fds= a1e & g uman man
%n%ﬂ‘cﬁ@rwmﬁ 61 9. o, & WH W 64 . 1t 3ifcsd g1 mar U1 Fet 3ad
Gl

.55.85 em
. 45.65 cm
. 34.79 em
4. 56.78 ecm

Options :

=

Lo

68019121541. 1
68019121542. 2
68019121543. 3
68019121544. 4

Question Number : 37 Question Id : 6801915509 Question Type : MC( gcollegeduniag

Question Mandatory : No Calculator : None Response Time : N.A Thiiin vuiic + vvem svinninniun



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A dice with 12 faces are used in adventure games. They are marked with the
numbers 1 to 12. The score is the upper most face. If such die 1s thrown once, then
what 1s the probability that the score 1s a factor of 127

o |l D | =l | =g | —

Options :

68019121545. 1
68019121546. 2
68019121547.3

68019121548. 4

Question Number : 37 Question Id : 6801915509 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tefte Wal & 12 Bad ad 991 & SUaRT AT S g1 5% 1 8 12 a9 3t

T & a1y fafgd forar orar 8 | 9ed S B W siftrd 7 & forr S

81 91¢ 39 0RE & U Bl U aR Wbl SIIdl 6. Al 3idh & 12 BT IUFES 6 ol
UTfidar a1 gl ©

[

o |l 2 | = | =D | —

Options :
68019121545, 1
68019121546. 2 gcollegedunias

68019121547. 3 )



68019121548. 4

Question Number : 38 Question Id : 6801915510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ABCD 15 a parallelogram. P and R are two points on AB such that the area of
parallelogram ABCD is 8 times the area of triangle DPR. If PR =5 cm. then what
is the measure of CD?

.12 em
.16 cm
.20 cm
4. 24 ¢m

Options :

| S

%]

68019121549. 1
68019121550. 2
68019121551. 3

68019121552. 4

Question Number : 38 Question Id : 6801915510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ABCD U& JHIR 94 8. Yo AB IR P 3R R. &l [dg SU VPR § B! IHIGR
Il ABCD 1 895 d LS DPR & &A%d 18 - 6| Ufd PR =5 4l 8.
dl CD o1 11 1 87

1294
16 9H
.20 94
4.24 941

Options :

fad  I-d =

68019121549. 1

68019121550. 2
68019121551, 3 gcollegedunias

~



68019121552. 4

Question Number : 39 Question Id : 6801915511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 z ; : : : |
If sum of the diagonals of a rhombus 1s 12 cm and its perimeter 1s 843 cm. then
lengths of the diagonals (in em) are:

34

o =
L
L

Lid
0w~
b

4. 35
Options :
68019121553. 1
68019121554. 2
68019121555. 3

68019121556. 4

Question Number : 39 Question Id : 6801915511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe; forht Iraqs & faaur &1 i 12 901 8 Sk sHe! oA 845 I &,
i foeurt o1 dee (@91 §) 59 TR &

.5, 6.

| R
] LM
L

LFY]
o0 00
s oun

4. :

L ]

Options :

68019121553. 1
68019121554. 2
68019121555. 3

68019121556. 4 gcollegedunias

~



Question Number : 40 Question Id : 6801915512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The average of 10 numbers is 7. If each number is multiplied by 12. then the
average of new set of numbers 1s:

~] 2

aa d =

4
. 67
. 8

=N

4, 78
Options :
68019121557. 1
68019121558. 2
68019121559. 3

68019121560. 4

Question Number : 40 Question Id : 6801915512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

10 =13 1 3{1d 7 81 Al e H=A1 i 12 3 70 fdsa1 Sl 8. df =g
s & WHg &1 SHd g

.48

.67

. 84
4. 78

Options :

fas b2 —

68019121557. 1
68019121558. 2
68019121559. 3

68019121560. 4

Question Number : 41 Question Id : 6801915513 Question Type : MC( .
collegedunia:

Question Mandatory : No Calculator : None Response Time : N.A Thi



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

On simple interest a certain sum becomes Rs 8736 in 2 years and Rs 11076 in 7
years. Find the rate of simple interest.

%o

. 5.5%
3. 6%
4. 8%

Options :

|
L

Fi

68019121561. 1
68019121562. 2
68019121563. 3

68019121564. 4

Question Number : 41 Question Id : 6801915513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

IR0 ST U2 U (A iR 2 auf o 8736 309 3R 7 a9 H 11076 S9U B
SIdl 8 | SIURUN o7 &1 &2 Sd BT

%o

5%

[

]

. 6%
4. 8%
Options:

1
2
3

68019121561. 1
68019121562. 2
68019121563. 3

68019121564. 4

Question Number : 42 Question Id : 6801915514 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 .
collegedunia:

Correct Marks : 4 Wrong Marks : 1 S



Find a single discount equivalent to a series of discounts 10%. 20% and 30%.

1. 49.6%
2.48.7%
. 49.7%
4. 48.6%

Options :

L]

68019121565. 1
68019121566. 2
68019121567. 3

68019121568. 4

Question Number : 42 Question Id : 6801915514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10%, 20%3{R 30% B¢ &1 4adl & YA UDhd g qId B

1. 49.6%

2.48.7%

3. 49.7%

4. 48.6%
Options :
68019121565. 1
68019121566. 2
68019121567. 3

68019121568. 4

Question Number : 43 Question Id : 6801915515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



The LCM of two numbers 1s 14 times their HCF. If sum of their HCF and LCM 1s
300 and one of the numbers 1s 40. then the other number 1s

32
= 135
. 140
. 148

Options :

L e

68019121569. 1
68019121570. 2
68019121571. 3
68019121572. 4

Question Number : 43 Question Id : 6801915515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

&1 A3 BT . (LCM) I 7.9, (HCF) BT 14 T 51 TG T 7.,
(HCF) iR @4, (LCM) BT TR 300 § 3R U T=AT 40 8. 1 goRi 9= shifi

432
135
3. 140
4. 148

Options :

|

68019121569. 1
68019121570. 2
68019121571. 3

68019121572. 4

Question Number : 44 Question Id : 6801915516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



A labourer was engaged for 20 days on the condition that he will recerve Rs 60 for
each day he works and he will be fined Rs 5 for each day he is absent. If he
received Rs 745 1n all. then for how many days did he remain absent?

L b =
20 =1 S LA

4,
Options :
68019121573. 1
68019121574. 2
68019121575. 3

68019121576. 4

Question Number : 44 Question Id : 6801915516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U9 HugR B1 59 Td UR 20 1 & (70 18 U= 3@ 7141 U1 o6 39 B B
aTdl Ueliep o @ 1E 60 3l e SR Ui 38 ardl Udie fad & fai 5
YUY &1 SHIAT T S| 3R 3¢ $d 745 394 [Bd o 98 e ol aa
HJafRyd T

LIPS NS
G0 =1 O LA

4.
Options :
68019121573. 1
68019121574. 2
68019121575. 3

68019121576. 4

Question Number : 45 Question Id : 6801915517 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 .
collegedunia:

Correct Marks : 4 Wrong Marks : 1 S



If a number x 15 10% less than another number y and y 15 10% more than 125, then
x 1s equal to:

. 138.76
42373
124

4.156.13

Options :

Jd =

faa

68019121577.1
68019121578. 2
68019121579. 3
68019121580. 4

Question Number : 45 Question Id : 6801915517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

afe g T x, GO &1 y § 10 YA 1 8 3R y. 125 F 10 WA= i
8. 1l x g R §:

.138.76
Y2375
124

4.156.13

Options :

=

L]

68019121577.1
68019121578. 2
68019121579. 3

68019121580. 4

Question Number : 46 Question Id : 6801915518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List I with List II

LISTI LISTII
(Disease) (Cause of disease)
A |Ita1 -1ta1 [. |High Nitrate in water
B. |Minamata II. |High dissolved Oxygen in water
C. |Blue baby syndrome| IIl. | Cadmium toxicity
D. |Gas bubble disease | IV. [Mercury toxicity

Choose the correct answer from the options given below:

1. (A) - (V). (B) - (II). (C) - (I). (D) - (II)
2. (A) - (). (B) - (IV). (C) - (IT). (D) - (I)
3.(A) - (). (B) - AV). (C) - (I). (D) - (II)
4. (A) - (IV). (B) - (I1T). (C) - (IT). (D) - (I)

Options :

68019121581. 1
68019121582. 2
68019121583. 3
68019121584. 4

Question Number : 46 Question Id : 6801915518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 9= 11 9 e Siforn

E =
@R

sa-sds | L [gri A= Ede

AT 1L |9t & S= gicrd sieiie

& olsll figH | 1L [ereEs fauredar

T gerga I | 1V, [ fawraaan

- feu U fdsedl & 9§ el SR I |

1. (A) - (V). (B) - (IID). (C) - (I). (D) - (II)
2.(A) - (I). (B) - (IV). (C) - (IT). (D) - (I)
3.(A) - (III), (B) - AV). (C) - (I). (D) - (II)
4.(A) - (IV). (B) - (III). (C) - (I1). (D) - (I)

Options : gcollegedunias

68019121581. 1 )

P

Ol | "




68019121582. 2
68019121583. 3

68019121584. 4

Question Number : 47 Question Id : 6801915519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The tendril by which a pea plant clings to a support 1s/are:

(A). Modified Roots
(B). Modified Leaves
(C). Flower

(D). Fruit

Choose the correcr answer trom the options given below:

.(B) and (D) only
. (A) and (C) only
.(B) only

. (A) and (B) only

R e

Options :

68019121585. 1
68019121586. 2
68019121587. 3

68019121588. 4

Question Number : 47 Question Id : 6801915519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Tex @l uret forg (¢S UaH ¥ 98 R ddl 6. 98 &
(A) FUART TS

(B) &Uidid giral

(C)

(D) ®d

- fau e fdenl O 9§ 9ol S 3|

1. %ad (B) 3R (D)
2. %dd (A) AR (C)
3. ®dd (B)

4. %dd (A) AR (B)

Options :

68019121585. 1
68019121586. 2
68019121587.3

68019121588. 4

Question Number : 48 Question Id : 6801915520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The atomic nucle1 having the same neutron number N but a different atomic
number are called .....

. 1sotopes
. 1sobars

. 1sotones
4. 1somers

|

L]

Options:

68019121589. 1
68019121590. 2
68019121591. 3
68019121592. 4

Question Number : 48 Question Id : 6801915520 Question Type : MC(
collegedunia:

Question Mandatory : No Calculator : None Response Time : N.A Thi

~



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A 2 SE=AT N Afcp1 143 IRHT0] A1 dTel TRAT] AN Bl ... Hl
SIGIES

Options:

68019121589. 1
68019121590. 2
68019121591.3

68019121592. 4

Question Number : 49 Question Id : 6801915521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following radiations in the increasing order of their energy:

(A). Infra-red (IR) radiations
(B). UV- radiation

(C). Visible rays

(D). X- rays

(E) Microwave radiation

Choose the correct answer from the options given below:

. (E), (A), (C), (D), (B)
_(A). (E). (C). (B). (D)
. (D). (B). (C). (A). (E)
4. (E). (A). (C). (B). (D)

Fag b2 —

Options :
68019121593. 1

68019121594. 2

68019121595. 3
68019121596 4 gcollegedumas

~



Question Number : 49 Question Id : 6801915521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad fafamul & 39 ol & g¢d v § affud &%

(A) 3faad (1R)fdfa=or

(B) gdl fafezur

(C) TZTHH a3l

(D) T =l

(E) HIS®HIad fafdu

- feu e o el O 9§ 981 S I |
1. (E). (A). (C). (D). (B)
2.(A). (E). (C). (B). (D)

3. (D). (B). (C). (A). (E)
4. (E). (A). (C). (B). (D)

Options :

68019121593. 1
68019121594, 2
68019121595. 3
68019121596. 4

Question Number : 50 Question Id : 6801915522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which of the following are primarily responsible for Acidic rain 7
(A} Oxides of carbon

{B). Oxides of nitrogen

(C). Oxides of sulphur

(D). Oxides of phosphorus

Choose the carrect answer from the options given below:

. (C). and (D) only
. (A). (B) and (C) only
. (A). (B). (C) and (D)
.(B)and (C) only

| o

e s

Options :

68019121597. 1
68019121598. 2
68019121599. 3

68019121600. 4

Question Number : 50 Question Id : 6801915522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fafaRad ¥ 9 &1F 9 4w &9 9 Sy 991 & 6 fomer 82
(A) TTET & AFHSS
(B) TIZcioH & HHEs
(C) Gehr & HIHSS
(D) PRBERY & JHFEs
- feu e o el O 9§ 981 S 9|
1. %ad (C) 3R (D)
2.%ad (A), (B) 3R (C)

3.%dd (A). (B). (C) 3R (D)
4. %ad (B) AR (C)

Options :

68019121597. 1

68019121598 2
gcollegedunias

68019121599. 3

~



68019121600. 4

Question Number : 51 Question Id : 6801915523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Iron rod when exposed to moist air develops rust on it. What is the chemical
tormula of rust?

1. Fe (OH),
2. FeO

- Fe;05 xH,0

. Fe(OH). 2H,0

e g

Options :

68019121601. 1
68019121602. 2
68019121603. 3

68019121604. 4

Question Number : 51 Question Id : 6801915523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

dle @ B ol 49 gal & 9ud H AT § ol 39 9= ST T offcll 8 | 9T &1

.3 J PE:D_:,.XH:D
. Fe(OH). 2H,0

=

Options :

68019121601. 1
68019121602. 2
68019121603. 3

68019121604 4 gcollegedunias

~



Question Number : 52 Question Id : 6801915524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not helptul in the fixation of atmospheric nitrogen in a
usetul form for plants?

1. Rhizobium
2. Azospirillum
. Mycorrhiza
4. Azotobacter

%]

Options:

68019121605. 1
68019121606. 2
68019121607. 3

68019121608. 4

Question Number : 52 Question Id : 6801915524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fafafad 3 ¥ oH w1 9yl & e Suanhl =9 § araauia Ascoq &
fReRiERu § 9@ A8l o7

1. IS Slfaad

2. TollfeRieray

3. HIgBRIgul

4. THllelaaeR

Options :

68019121605. 1
68019121606. 2
68019121607. 3

68019121608. 4

gcollegedunias

Question Number : 53 Question Id : 6801915525 Question Type : MCQ Ubtlon Shurriing : NO IS



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Species living in their natural habitat on earth interact with each other. Which of
the following is true for two species having competitive interactions among them?

. One species 1s harmed and the other remains neutral

. One species is benefitted and the other iz harmed

. One species 1s benefitted and the other remains neutral
. Both the species are harmed

|

e Taa

Options :

68019121609. 1
68019121610. 2
68019121611.3
68019121612. 4

Question Number : 53 Question Id : 6801915525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gedf} IR 35 aTet Wisfiet Srom wiepfas omar § gt § iR U gk & 1y
T o el g1 & wiiefiel & die ufawgedf s o & foru Fmfeiag
T PH- YT IAG ?

1. Uo T 1 g1 B1 @ SiR wafdh st smvfaa it 8
2. T IRl I o8Il & SR g8 &I 81 8idll &

3. U WIS I oY Blal & 3R GUR1 ST Bidl &

4. H Wi S e el §

Options :

68019121609. 1
68019121610. 2
68019121611. 3

68019121612. 4

Question Number : 54 Question Id : 6801915526 Question Type : MC( gcollegedunias

Question Mandatory : No Calculator : None Response Time:N.AThi____~



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statements.

1. Dissolved oxygen in water varies with the temperature of water.

2. Atmospheric exchange and photosynthesis are the main source of dissolved
oXygen in water.

3. Dissolved oxygen and biochemical oxygen demands are inversely
proportional to each other.

4. Water having high biochemical oxygen demand will also have high dissolved
oXygen.

Options :

68019121613. 1
68019121614. 2
68019121615. 3

68019121616. 4

Question Number : 54 Question Id : 6801915526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
fafaad o 9 Trerd SuH g1
1. O gaeeia sfeaiio 9 & aroeE & 91 geadl ¢
z.gﬂﬂﬁﬂﬁﬁmﬁ?WWqﬁﬁqﬁaWﬁg@m
l

3%3@@@?@3% SIS P JFT U ga) & fquid

3T & |

4.3@2%% SHeIIo &1 AT aTd o/a 3 i gaRia sifaie off
3= BT

Options:

68019121613. 1
68019121614. 2
68019121615. 3

68019121616. 4

gcollegedunias

Question Number : 55 Question Id : 6801915527 Question Type : MC( < civer curanrnn

Y e rww A



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the standard definition of ‘Main Worker’. according to the Census of
India?

1. Main Worker 1s a person who works for at least 183 days (or six months) i a
year.

2. Main Worker is a person who works for at least 365 days (or twelve months)
in a year.

3. Main Worker is a person who works for at least 275 days (or nine months) in
a year.

4. Main Worker 1s a person who works for at least 91 days (or three months) 1n
a year.

Options :

68019121617. 1
68019121618. 2
68019121619. 3

68019121620. 4

Question Number : 55 Question Id : 6801915527 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRA B STIUET & TR G SRIdd! &1 HHD GRHTE 1 32

1. §% HRdhd| a8 odfdd § ol U a8 § &1 I &1 183 fd7 @ @g e
DTH BT ¢

2. g% BIdahdl 98 odfdd gial 8 Sl U a8 § &0 8 &1 365 fa7 (@ aRe
Tel) S SRl gl

3. g% B dl 98 odfdd gial 8 Sl U a8 O &1 ¥ 1 275 feq @ =1
Tel) S SRl gl

4. g% BTl 98 odfdd gial s Sl a4 & &9 9 &Y 91 faa @1 d= agh)
DTH BT ¢

Options :

68019121617. 1

68019121618. 2
collegedunia:
68019121619. 3

~



68019121620. 4

Question Number : 56 Question Id : 6801915528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 2011 Census of India has divided the working population of India into which
major categories:

(A). Cultivators

(B). Agricultural Labourers

(C). Household Industrial Workers
(D). Businessmen

Choose the eorrect answer from the options given above:

1. (A) only

2.(A)and (B) only
3.(A). (B) and (C) only
4.(A), (B). (C) and (D)

Options :

68019121621. 1
68019121622. 2
68019121623. 3

68019121624. 4

Question Number : 56 Question Id : 6801915528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



YR @I 2011 B SHIUHT H HRA S SRR S-4ed] o fdo- W Sforgt # fauiferg
foa1 T B

(A) GideR

(B)

(®) g%% Siany

(D) Soagrdt

R feu T fadedl o © Ug! 3R g
1. Bad (A)
2. $ad (A) 3R (B)

3.%ad (A). (B) AR (C)
4. (A), (B). (C) 3R (D)

Options :

68019121621. 1
68019121622. 2
68019121623.3
68019121624. 4

Question Number : 57 Question Id : 6801915529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a Christian majority state?

1. Meghalaya
2. Mizoram

. Nagaland
4. Sikkim

Options:

Taa

68019121625. 1
68019121626. 2
68019121627. 3
68019121628. 4

Question Number : 57 Question Id : 6801915529 Question Type : MC( .
collegedunia:

Question Mandatory : No Calculator : None Response Time : N.A Thi

~



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad ¥ 9 19 91 Is 5413 95 3ol T8 82

1. HYTag
2. fHeiRe
3. A S
4. ffewn

Options :

68019121625. 1
68019121626. 2
68019121627. 3

68019121628. 4

Question Number : 58 Question Id : 6801915530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Female migration 1s the highest for which of the following streams of migration in
India. according to the Census of India. 20117

. Rural to Rural

. Rural to Urban
3. Urban to Rural
4. Urban to Urban

Options:

2 =

68019121629. 1
68019121630. 2
68019121631. 3
68019121632. 4

Question Number : 58 Question Id : 6801915530 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1 gcollegedumas

~



YR B SRIUA, 2011 & 3FTER HRA § YaT¥ & Hafarad uris § 9 &g
& forg wfgan yary wad 3ifee g2

1. o grato
2. IO Y e
3. Qe g g
4. TR T IR

Options :

68019121629. 1
68019121630. 2
68019121631. 3

68019121632. 4

Question Number : 59 Question Id : 6801915531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Popular ‘Girmit Act’ 1s related to which of the following acts during British
colonial period?

1. Women Empowerment Act
2. Indian Emigration Act

3. Indian Labour Act

4. Indian Industry Act

Options :

68019121633. 1
68019121634. 2
68019121635. 3
68019121636. 4

Question Number : 59 Question Id : 6801915531 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

gcollegedunias

~

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Ay R st fefew siufafie e & R Fafiated 3 9 oy
Sifefom 9 gefod g2

1. Aigen guifads o sffga
2. YRAT IHaN HfeH-ag
3. YRAIT 49 3fEH=ag

4, URGH I SHgHTH

Options :

68019121633. 1
68019121634. 2
68019121635. 3

68019121636. 4

Question Number : 60 Question Id : 6801915532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Name of the Travellers who visited (The Country of
India ) Traveller)
A Muh_a.mr?lad Tbn Ahmad Abu Rathan 1 |Usbekistan
al-Biruni
B. |Sevdi Ali Reis II. |Turkey
C. |Tbn Battuta III. |Morocco
D. Abd al-Razzaq Kamal al-Din Tbn 1 [Simssgand
Ishag

Choose the correct answer from the options given below:

AA) - (I). (B) - (II). (C) - (III). (D) - (IV)
. (A) - (I). (B) - (IIT). (C) - (IT). (D) - (IV)
. (A) - (I). (B) - (I1). (C) - (IV). (D) - (IIT)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

fag b2 —

Options :
68019121637. 1
68019121638. 2

68019121639. 3 .
collegedunia:

68019121640. 4

~



Question Number : 60 Question Id : 6801915532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! 11 i 11 F e wifore
11

(Wﬁﬁ&‘?ﬁﬂﬁﬁ%m m%%m
A [HEHE 39 3EHE oY B el | L [SwiewH
B. [4dl afcil 29 . (gef

C. [zgaqm 1L [ARe]

o %Em&mmwﬁamdﬁsa v |gmare
- fau Y fdeedl O 9 el SR 9:

1. (A) - (). (B) - (I1). (C) - (III), (D) - (IV)
2. (A) - (I). (B) - (III). (C) - (II). (D) - (IV)
3.(A) - (1), (B) - (I1). (C) - (IV). (D) - (IIT)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019121637. 1
68019121638. 2
68019121639. 3

68019121640. 4

Question Number : 61 Question Id : 6801915533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nayanars are the devotees of which God/Goddess of Hindu tradition?

1. Shiva
2. Vishnu
Brahma

4. Shakt .
, collegedunia:

Options:

L]

~



68019121641. 1
68019121642. 2
68019121643. 3

68019121644. 4

Question Number : 61 Question Id : 6801915533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
TR fg R & 59 Saa<dl & Had &
1. 729
2. fauy
3. Sl
4. Tfad
Options:
68019121641. 1
68019121642. 2
68019121643.3

68019121644. 4

Question Number : 62 Question Id : 6801915534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following parts of Independent India is the first to hold an election
based on the universal adult franchise?

1. Manipur
2. Bihar
3. Odisha
4. Assam
Options :
68019121645. 1
68019121646. 2 gcollegedumas

~



68019121647. 3
68019121648. 4

Question Number : 62 Question Id : 6801915534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fafeafad & § Wdg YR &1 &9 91 HFT 9ad4iiEs 905 TdideR & YR
TR 919 S aTal ggal HF 87

1. IOTgR
2. fagR
3. 3ffsEm
4, HHH
Options :

68019121645. 1
68019121646. 2
68019121647. 3

68019121648. 4

Question Number : 63 Question Id : 6801915535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who among the following sociologists argued that many villages all over India are
increasingly becoming subject to the impact of urban influences.but the nature of
urban impact varies according to the kind of relations a village has with a city or
town.

1. G. S Ghuriye

2. ML N. Srinivas
.M. 5. A. Rao

4. Yogendra Singh

Laa

Options :

68019121649 1
63019121650. 2 gcollegedumas

~



68019121651. 3
68019121652. 4

Question Number : 63 Question Id : 6801915535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

frafead gaTeRedl # 9 g do fag feb OY WRd & &y, 7iid el gHal
& UYTa & 37 8133 ©. Wfch1 X8t UHTd B Ypfd U 71d & U g U1 U
T & Y T F PR I IR - gt 2

1. ol Tg. Ry
2. 04, U4, a9y

3. QA UE UG
4. 01 &g

Options :

68019121649. 1
68019121650. 2
68019121651. 3

68019121652. 4

Question Number : 64 Question Id : 6801915536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a possible personality trait in the findings of Paul
Costa and Robert McCrae?

1. Conscientiousness
2. Neuroticism

3. Extraversion

4. Cardinal

Options :
68019121653. 1

68019121654. 2 :
collegedunia:

68019121655. 3 <



68019121656. 4

Question Number : 64 Question Id : 6801915536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tid IRET 3R UGS Uepeh & f-spul § Fgfeiaa o I o1 Ut ue guifad
oo fa=ivar Tel 82
1. fgdp i
2. RIfeRreH
3 ﬁ[%aﬁ =
4. PIiSA
Options :
68019121653. 1
68019121654. 2
68019121655. 3

68019121656. 4

Question Number : 65 Question Id : 6801915537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Sarna Chatushtayi was done to prove:

1. Swar
2, Jaitt

3. Shruti
4. Gram

Options :
68019121657. 1
68019121658. 2

68019121659. 3

68019121660. 4
gcollegedunias

~



Question Number : 65 Question Id : 6801915537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

RN Iyt U8 WIfad &3 & forg &1 i oft

TR
RS

i

4. 915
Options :

faa ad —

68019121657. 1
68019121658. 2
68019121659. 3
68019121660. 4

Question Number : 66 Question Id : 6801915538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
{(Gayan Shaih) { Elaborations)
A | Thumn I. |Laggi
B. |Prabandh II. |Taan
C. |Ehayal ITI. |[Nom Tom
D. |Dhrupad IV. |Tenak

Choose the correct answer from the options given below:

- (A) - (). (B) - (). (C) - (IIT). (D) - (IV)
(A) - (D). (B) - (IV). (C) - (II). (D) - (IIT)
(A) - (). (B) - (II). (C) - (IV). (D) - (I1I)
4. (A) - (III). (B) - (AV). (C) - (I). (D) - (II)

|

L]

Options :

68019121661. 1 ,
collegedunia:

68019121662. 2 s



68019121663. 3
68019121664. 4

Question Number : 66 Question Id : 6801915538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 A1 11 ¥ e DI
A I = 11
(T St =)
A [3F I IS e
B (U&= n [d=
C. [=ma 1L |4/ 2|
D. |¢Ug V. |<&
- feu U fdsedl & 9§ el SR I |

1. (A) - (I). (B) - (I). (C) - (II). (D) - (IV)
2. (A) - (1), (B) - (IV), (C) - (I1). (D) - (IIT)
3.(A) - (I), (B) - (I1). (C) - (IV). (D) - (111)
4.(A) - (III). (B) - (IV). (C) - (I). (D) - (1)

Options :

68019121661. 1
68019121662. 2
68019121663. 3
68019121664. 4

Question Number : 67 Question Id : 6801915539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Choose the Correct pairs :

(A) Krishna Rao Shankar Pandit - Gwalior Gharana
(B) Abdul Karim Khan - Kirana Gharana

(C) Ravi Shankar - Mathar Gharana

(D) Faiyaz Khan -Patiala Gharana

Choose the correct answer from the options given below:

1. (A). (B) and (D) only
2. (A). (C) and (D) only
3. (A). (B) and (C) only
4. (B). (C) and (D) only

Options :

68019121665. 1
68019121666. 2
68019121667. 3
68019121668. 4

Question Number : 67 Question Id : 6801915539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(A) DU G YbR Gl d-Tamierar uxH=T
(B) 3fe3q BT WH-BHT TR

(C) JFARIBR-IT WA

(D) TS -G 9=

- feu e fosedl & 9§ 95l SR A |

1. %ad ( A). (B) 3R (D)
2.%dd A). (C) 3R (D)

3.%ad (A). (B) 3R (0)
4. %ad (B). (C) 3R (D)

Options :
68019121665. 1

68019121666. 2 ,
collegedunia:

68019121667. 3 ~



68019121668. 4

Question Number : 68 Question Id : 6801915540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The play ‘Post Office’ 1s written by:

. Dharmavir Bharati

. Mohan Rakesh

. K. N. Panikkar

4. Rabindranath Tagore

g Jd —

Options:

68019121669. 1
68019121670. 2
68019121671.3
68019121672. 4

Question Number : 68 Question Id : 6801915540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIHYUR AICH 5% G-I ol 747 &:

1. YHAR YR
2. Oig D

3. %, U, UiUfgdr
4. TAIEAT TR

Options :

68019121669. 1
68019121670. 2
68019121671. 3

68019121672. 4

gcollegedunias

Question Number : 69 Question Id : 6801915541 Question Type : MCy Ubtlon SMNUTTIING : NO 1S



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
{Books) {Authors)
A |Adhe Adhure 1. |Girish Kamad
B. |Sakaram Binder| II. |Badal Sircar
C. |Nagamandala |III. |Vyay Tendulkar
D. |Evm Indrajit IV |Mohan Rakesh

Choose the correct answer trom the options given below:

L. (A) - (V). (B) - (II). (C) - (I). (D) - (II)
2. (A) - (IV). (B) - (ITT). (C) - (IT). (D) - (I)
. (A) - (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (I). (B) - (IV). (C) - (D). (D) - (II)

L]

Options :

68019121673. 1
68019121674. 2
68019121675. 3

68019121676. 4

Question Number : 69 Question Id : 6801915541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



! 11 i 11 F e wifore

BB

A |18 SR L [ &Ais
B. |[9PREIESY| I [F50 TPR
C. [ArEa 111 |55 dgaas
D. [ggHseelld |1V (AT ud

- fau e faw el O 9§ 981 S I |

1. (A) - V). (B) - (IID). (C) - (I). (D) - (II)
2. (A) - (IV). (B) - (ITT). (C) - (IT). (D) - (I)
. (A) - (III). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (D). (B) - (AV). (C) - (I). (D) - (IIT)

L)

Options :

68019121673. 1
68019121674. 2
68019121675. 3
68019121676. 4

Question Number : 70 Question Id : 6801915542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The famous Sanskrit play ‘abhigyan Shakuntalam’ is written by:

. Kalidasa

. Bhasa

3. Sr1 Harsha
4. Bhavabhuti

Options :

ba =

68019121677. 1
68019121678. 2
68019121679. 3

68019121680. 4

gcollegedunias

Question Number : 70 Question Id : 6801915542 Question Type : MC( -



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g Tpd e SR W day farar 6
I EALS)

U

iy

4. Yayfd

Options :

1
2
3

68019121677. 1
68019121678. 2
68019121679. 3
68019121680. 4

Question Number : 71 Question Id : 6801915543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

From which Sanskrit root is the word "Yoga' derived ?

. Yug
. Yuy
. Yob
4. Yuk

Options:

|

L]

68019121681. 1
68019121682. 2
68019121683. 3
68019121684. 4

Question Number : 71 Question Id : 6801915543 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0 .
collegedunia:

Correct Marks : 4 Wrong Marks : 1 -



TNT eg; 31 A Tpd & (59 Ja Tec T 53 87

L4910
2.9
3.99
4. 4o
Options :
68019121681. 1
68019121682. 2
68019121683. 3

68019121684. 4

Question Number : 72 Question Id : 6801915544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are misconceptions about Yoga ?

(A). Yoga 1s merely asanas

(B). Yoga 1s Hindu religion

(C). Yoga 1s proficiency in actions
(D). Yoga 1s Sanyasa

Choose the correct answer from the options given below:

1. (A). (B) and (D) only
2. (A). (B) and (C) only
_(A). (B). (C) and (D)
4. (B). (C) and (D) only

Tad

Options :

68019121685. 1
68019121686. 2
68019121687. 3
68019121688. 4

Question Number : 72 Question Id : 6801915544 Question Type : MC(
gcollegedunias

Question Mandatory : No Calculator : None Response Time : N.A Thi

~

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
IR & R H FHEfeiEd | 9 & 9 fiwr gront

(A) T e 3HTe ¢

® drfegud s

(C) T fepamait & gdiar &

(D) TN G309 &

g feu e fosedi § 4 981 3w 3|
1. %ad (A). (B) 3R (D)
2.%dd (A). (B) 3R (C)

3. (A). (B). (C) 3R (D)
4. %ad (B). (C) 3R (D)

Options :

68019121685. 1
68019121686. 2
68019121687. 3
68019121688. 4

Question Number : 73 Question Id : 6801915545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII

(Yoga Texts ) {Author)
A Haﬂu-amm'ali [ |Swami Swatmaram

B. |Hatha Yog Pradeepika| II. |Shri Niwas
C. |Gherund Sambhita III. |Maharishi Valmiki
D. [Yog Vashishtha IV, |Maharishi Gherand

Choose the correcr answer from the options given below:

L. (A) - (). (B) - (I). (C) - (III). (D) - (IV)
2. (A) - (I). (B) - (ITI). (C) - (II). (D) - (IV)
. (A) - (D). (B) - (). (C) - (IV). (D) - (I1I)
. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

Options :
68019121689 1 @ collegedunia:

~

e T



68019121690. 2
68019121691. 3

68019121692. 4

Question Number : 73 Question Id : 6801915545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 ¥ e Sifu

= | =

A |gadgaaal 1. |5 EERe
B. |86 O weiitedr | . |4 Fam
C. [o%s Efega 111 | HeM arciie
D. |grT g v [meff g

4 fau e fasedl & 4 9l SR |

1. (A) - (I). (B) - (II). (C) - (III). (D) - (IV)
2.(A)- (1) (B) - (III), (C) - (II), (D) - (IV)
3. (A) - (II), (B) - (1). (C) - (IV). (D) - (IIT)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019121689. 1
68019121690. 2
68019121691. 3

68019121692. 4

Question Number : 74 Question Id : 6801915546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



The correct sequence of Chutta Vritti 1s:

1. Viparyay Vikalp Nidra Smriti Pramana
2. Pramana Viparyay Vikalp Nidra Smriti
. Vikalp Viparyay Nidra Smriti Pramana
4. Smriti Nidra Vikalp Viparyay Pramana

L]

Options :

68019121693. 1
68019121694. 2
68019121695. 3

68019121696. 4

Question Number : 74 Question Id : 6801915546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
ErEhEIR e

1. faudy faeey g1 Sfd umm
2. vl faudy faeey e =i
3. famen faudy gy wid wamor
4. Jfa FgT faeed fauzia gy

Options :

68019121693. 1
68019121694. 2
68019121695. 3

68019121696. 4

Question Number : 75 Question Id : 6801915547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



The plays originally written in the Sanskrit language are:

A. Mrichakatikam

B. Abhigyan Shakuntalam

C. Nil Darpan

D. Malavika Agnimitram

E. Silence! The Court is in Session

1. (A). (B) and (C) only
2.(B). (C) and (D) only
. (A). (B). and (D) only
4. (C). (D) and (E) only

L]

Options :

68019121697. 1
68019121698. 2
68019121699. 3

68019121700. 4

Question Number : 75 Question Id : 6801915547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e =4 ¥ T d U ¥ R 7T e s 28 UPR o
A. =

B. AU P

c. e &g

D. HTAdeT SAfAfH=H

E. @Y | 3ead 940 8

1. %ad (A), (B) R (C)
2.%qd (B). (C) 3R (D)
3.%ad (A). (B). IR (D)
4.%ad (C). (D) AR (E)

Options:
68019121697. 1
68019121698. 2

68019121699. 3
collegedunia:

68019121700. 4

~



